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Important Formula

1. (a+bP = a2 + 2ab + b = (a - b}? +4ab
2. (a-b? = a?-2ab + b2 = (a + bP-4ab
3. a-b = (a + b) (a - b)

4. a2 + b2 = a+b)-(a - b
2 26. ut HET ( WHOLE NUMBERS)

5. ab
=a+b +(a-b}

4

TT6RU0, 1, 2, 3, 4, 5, ..6. (a+ b)3 =a3 + b+ 3ab (a + b)
7. (a- bS = a"- bs-3ab (a- b)

8. a + bs = (a + b}) (a- ab +b)
a-b= (a-b) (a + ab + b)

10. (a +b +c = a +b + c +2(ab + bc + ac)
11. a + b3 +c -3abc = (a +b + c)

(a+b +c-ab -bc -ca)
If a+b+c 0, then as +b' + c =3abc

27. Ut HEM INTeGERS)

9.

3GI6U- 4,3, -2, -1, 0, 1, 2, 3, 4, ..

= {1, 2, 3, 4,..)4i AY7 qUi- e i
12. p" x P" = P"*"

Pn=nP"
13.

28. HH HRAT (EVEN NUMBERs)

14. PPmn
7 uTET 2 fHTTT ,

F4 TET
15. (PO =P"xQ"

2, 4, 6, 8, 10, 12 ,
...

29. faqH HT ( ODD NuMB»Rs)
p"

16.

17. p=1
316 1, 3, 5, 7, 9, 11, 13, 15, 17, 19,

..
30. 7THRET ( PrIME NuMBBRS)18. P

P"

19. R a =k, daa=(k)
3167U2, 3, 5, 7, 11, 13 .20. a =k, T4 a=k

*

21. a =b, Ta a =(b)

31. 1 À 50 5 15 H HETN aiT I
32. 1 25 75 9 Y EA ai ài

22. a =d, T x=y, TEI a#0,1

23.a a7 a" =

a 33. 1 75 T5 21 3747 HE aT I
34. 1 100 5 25 7 HEAT ar TI

24. a(a");b*c
35. 8ct 9 37H1 TEI M 100 a

25. f HEN (NATURAL NUMBERS)
36. 3¥41T HEN (CHECKING OF PRIME NUMBERS)

3187U 1, 2, 3, 4, 5, .... .
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2
3487:12. 86, 472, 520, 1000 etc. are divisibly by 2.

3 267 5
37.289 T qi 267 a T 17 51 3

38.84 267 2, 3, 5, 7, 11, 13, 17 à faufTa
8, 267; 3 faHTNT HfA 267 J

316:
() 1233 1 +2+3+3 9, lf5 3 fayITT Hy

1233, 3 3777 favfa sM:
(ii) 156- 1 +5 +6+ = 12, ifs 3 fa9aHT

156, 3 HT7 I faHs a:
4 fan: f fT I f-4 i s39. HE-3rHT7 FET ( Co-PRIMES)

3476RT:(7, 9), (15, 16)

40. M T 7 TET (CoMPOSITE NUMBERS) 31677
(i) 5 fHA4:7T fY YEI 5T 75

6428, t4 sT ifs 28 4 faHfTa FHTY

6428, 4 fa4TTT aT
376RU:4, 6, 8, 9

3E787T: 45, 4350, 135, 14850, 5 aTT ET
41. urra HET (RATIONAL NUMBERS

6 3T fH: 7 7H TUE = (2x3) z

3 7 8 13
316 4'9'9'15

3aTEUT: 18, 36, 720, 1440, 2 R 3 À faHI97 TI

7 HT 13 u: T TE 6 375142. 374tRH7 HET ( IRrATioNAL NUMBERS)

7 q 13 i fqHfya arii
3E7FTU:658,7 H fa¥TTa & F 65-2 x 8

=
65

- 16 49.

01
3T677 2,3,7,VIT1,

TT 49,7 T TEI 658 7 TYM arI

43. Tf HT ( REAL NUMBERS

3E1877
8

3787 .v2,v5,n etc. 1 2256 3tTT 3 3T5 8 fAHfa HT 2256, 8

R AAfua a
44. TTT a ia (DIvisIBILITY TESTS ) (ii) 4362000-F 3 HT E 8 T7

2 fanfaa a eI Å 2 fayfaa ar

NIDHI PUBLISHING HOUSE

ER A
SHOK K

UMAR TE
LE

GRAM: H
SSCSULT

AN



346: a
=T4 T, d

=¥aTR, T4

(i) 936819 9+ 3 + 6 +8 +1 +9 36 5 9

faHf FHTY 936819, 9 à faufa am (a)nh a= a+(n-l)d.

() 4356:4+3 +5+6 = 18,t 9 Àfatfa zafAy (b) ni m 7 = |2a +(n-1)d
4356, 9 faufa a

(c) n ai 1 Y7 =

46. TUTHT STUtt ( GEOMETRIC SERIES)

3E77: 20, 40, 150, 123450, 478970 î a, ar, ar, ar....
a =eH T, r= 3HAT3 HTA, T

(a) n y= ar

al-)
1-) 61r<1

11 fafaa arît

a-1)
r-1)(i) 2865423 H RE TT (c) nuE a= T6 r>1

(A) 2+ 6+4 +3 = 15
d) 3T 1 a= (1-r)

(B) 8 +5 +2 15 F4 3 fraa it fafa (FINDING OUT THE
A B

UNIT PLACE DIGITS)FHfA, 2865423, 11 à faHfTT 3TI
(ii) 217382 7 TE T 48. -T T5 f6 Y 4 T T5 A

(A) 2+7 +8 17 49. HeT 2, 3, 7, 8 1 y 5 '4' I Z41 4AT4

(B) -1 +3 +2 6
A-B 17 -6 11

FHM,217382, 11 faHTTM I
25 4 : q fH HEI 4-q4 qi 51. FeA 1,5, 6 3tT4 3F7 qi TEm I 3 f

50. 6 4 7 9 HITATR 5i i Rft d E

3767:500, 1275, 13550aH T5 25

fafa
,

FHÍTY T 25 fa4fT arTI

37 fr4

n n+ 1

2

53. 774 'n' F4 TE

2+4t6+...... 'n' 4 HA = n(n+1)

ai, 4PT 37 fas aiI
1+3+5+.. . . ' fau4 A= n

tHT Y HEAÍ 37 faHfsa ati TH-424242 nin+1) 2n+112+22+3+.....tn
484848, 242424, 171717

45. HTTT AUt (ArTHMETIC SERIES) 56. T4 'n'TT5 E1 1 aT

a,(a +d),(a +2d),(a +3d),..
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69. AN IMPORTANT RESULTT

(b+ab+1-a If p is prime and a,b are any integers, then

plab> pla or plb.
58.

b+ab+2-a)
3HTHA =

70. f st HHTR ut 1 THT fB fay 3H

bta)b-atd
59. yHTR AUjt 1aT 2d

THa = O+ 3f-TH

2

a TET T , b = 3HT4 T,d = FiT

nn+1nn+1(n+2 3ATH=
n: 4

For example:- 12+32+52+..+n2
22,42,62...n2

and=

61. ("-a"), (r-a) H mqÅ HI fTI 2v

62. (-a"), (x+a) HM m 4 H TYI V,+V2

63. (x+a"), (r+a) Àq m fq4 A fI
64. ETH HHTTai (HIGHEST COMMON

3v,VVs3HTH =-

V+2,+Vi
FACTOR) (H.C.F. or G.C.D or G.C.M.)

74. The average of consecutive numbers, always lies
in the middle:-

Y-3, 5, 7, 9, 11 51 3THA, 47 aIt TET 7 TI
65. TEaH HTYa (LOWEST COMMON 75, aft NufUTAË I A P T U uUTH 7 7

MULTIPLE (LC.M.)=

66. HEIT TUH = AHY. x HHY. 76. P,Q aA R77 TTIT a:b:c
,

New Average = 60+10 = 70.]

R=cK E K
= a

77. ufaPra (PERCENTAGE)
68. 3tatsa qATTTTTT(EUCLIDEAN

ALGORITHM)

aaqtm n TR
78.a A 7B % Tr7d = am +bn

r
x100 %

(100+r)Plab Pla or Plb
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5

79. a A 3T4 B % 4 ai a B 3AT A 88. We always calculate profit & loss at the cost price.

89. PROFIT (SP > CP)

When an article is soled at more price than its cost
price, then profit is earned. In other words, SP is

always greater than CP in case in profit.
<100 %

((100-r)

80. 7fft 1 a % TET 34 av 90. Loss PRICE (SP < CP)

When an article is sold at less price than its cost price,
then loss is incurred. In other words, SP is always
less than CP in case of loss.x100 |%

((100+r) 91. Profit = Selling Price Cost Price

P SP-CP

92. Loss = Cost Price - Selling Price
P CP- SP

x100 |% Profitx100%
((100-r) 97. Profit % Cost Price

TTHR (RESULTS ONPOPULATION) :
82. fit 7187 THET P7T af5 HET

P x 100%6
CP

Lossx100%98. Loss % CostPrice
P1

100 L
x100%

CP

100+Gain%
99. SP

= xCPP 100

100
aeTa (4YiT) Haat RESULTS ON

100. 100-Loss% CP
100. SP =

100

DEPRECIATION)-
100a f 49i71 ad4T7 44 p7 3H6 4 101.CP =

100+Gain )
SP

.CP- 100 SP
100 - Loss% )

84. 4i n a9 a 4 =

1 50 T6 i TateaT100
1. 12 2. 22 4= =

3. 32 9 4. 42 16

5. 54 25 6. 62 36
P

7. 72 49 8. 82 64

1 .RY 9. 92 = 81 10. 102 = 100
100 11. 112 = 121 12. 122 = 144

13. 132 = 169 14. 142 19686. (Cost Price, CP)
15. 152 225 16. 162 = 256

17. 172 = 289 18. 184 = 324
87. tacn (Selling Price, SP)

R 4 f9H RH st * I21. 212 441

19. 192 = 361 20. 202 = 400

22. 222 484
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6

23. 232 = 529 24. 242 = 576 11. 113 = 1331 12. 123 1728
13. 13 = 2197

15. 15 = 3375
25. 252 = 625 26. 262 = 676 14. 143= 1744

27. 272 = 729 28. 28 = 784 16. 163 = 4096

29. 292 = 841 30. 302 = 900 17. 173= 4913 18. 183 = 5832

31. 312 = 961 32. 322 = 1024 19. 193 = 6859 20. 203 8000

33. 332 = 1089 34. 342= 1156 21. 213 = 9261 22. 223 = 10648

35. 352 = 1225 36. 362 = 1296 23. 233 = 12167 24. 243 = 13824

37. 372 = 1369 38. 384 = 1444 25. 253 = 15625 26. 263 = I7576

39. 392 = 1521 40. 402 = 1600 27. 273 = 19683 28. 283= 21952

41. 412 1681 42. 422 = 1764 29. 293 = 24389 30. 303 = 27000
31. 313 = 29791
33. 333= 35937

43. 432 = 1849 44. 442 = 1936 32. 323 = 32768

45. 452 = 2025 46. 46 = 2116 34. 343= 39304

47. 472 = 2209 48. 48 = 2304 35. 35 = 428755 36. 363 = 46656

37. 373 = 50653 38. 383 = 5487249. 492 = 2401 50. 502 = 2500
39. 393= 59313 40. 403 = 64000

1H 50 Th at aifraT 41. 413 = 68921 42. 423 = 74088

1. 13 1 2. 23 8 43. 433= 79507 44. 443 85184=

3. 33 27 4. 43 64 45. 453 = 91125 46. 463 = 97336

53 125 6. 63 =216 47. 473 = 103823 48. 483 = 1105925.

7. 73 = 343 8. 83 = 512 49. 493 = 117649 50. 503 = 125000

9. 93 729 10. 103 = 1000

Nidhi Nidhi Nidhi
Publishing House Publishing House Publishing House

Joinus
Facebook Telegram Facebookk
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Date First ShiftHSSC CET MATH P. Y. Q.05/11/2022 st Paper
I1III II1 II1 II II I1 II1III IIIILIIL

1. 14 Htex AT TAT 3.5 HteT 3T Y aH TM , When a plot is sold for 18,700, the owner loses 15%. At what

price must the plot be sold in order to gain 15%?

The cost of a solid eylinder of radius 14 m and height 3.5 m,
when the cost of its metal is R 50 per cubic meter, is

(a) 22,500 (b) R 25,300

(c) 25,800 (d)21,000
(a) 1,07,800 (b) F 1,08,000

(c)3T7 78i T Ed/Not attempted
(c)R 1,09,800 (d) 1,00,208 fah x (100+ )(e)37 TT T TENot attempted Ans. (b)

Ans. (a) 34T9= uh 18,700115
85x14x14x3.5

7 7 25,300.

=2,156 HTz

4 2,156 x 50

= 1,07,800.

2. AT 38,000TT ATYR ATEY fFTI 5HTE I There are three positive numbers. One-third of the average
of all the three numbers is 8 less than the greatest number.
The average of the smallest and the second smallest number
is 8. What is the greatest number?A 3TT Bh TH TTAT AAR HHIT ?
(a) 10 (6) 1

A started a business investing 38,000. After 5 months, B joined
him with a capital of T 55,000. At the end of the year, the total
proft was R 22,000. Which out of the following is the approximate
difference between the share of profits of A and B?

(a) 1,192

(c) 1,928

(e) 3R T TT TEANot attempted

(c)14 (d) 9

(c) 3 TE TNot attempted

Ans. (b) abc
(b) 1,857

(d) 1,007
a+b+C = C-8

ato = 8
2Ans. (b) A B

38,000x 12 55,000 x 7 a+b = 16

456 385
16+c

C-822,000456-385 9
841 c 11

6. 1,331 x216+729+64) atua
= 22,000x841

(1.331 216+729+64) is equal to= 1,857.31
= 1,857. (a) 79 (b) 14.82

(c)90.88 (d) 13.62

(e) 3T7 TT I 6/Not attempted

If an article is sold at 20 pereent profit, then which of the Ans. (a) 11 x 6+9 +4
following is the ratio of its cost price to its selling price?

(a)5:6
(c)11:5

66+ 13 79.

(b)6:5
(d)5:11 1 1 1 1.

(e) 3TT TT AI T8/Not attempted

Ans. (a) CP 100

SP 120 TT i ?

4T4Td = 5 :6. Mr. X has some money with him. He has to distribute this
4. E 18,700 a 7, FH 4TFTER 15% zif 11.1.1

2 34 5 7'money among five labourers in the ratiop
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What is the minimum amount he should have, so that each Ans. (d) X+y =45

labourer gets an exact number of rupees ? X-y =5
2x = 50(a) 420 (b) 512

X =25(c) 599 (d) 358 y= 20
(e) 3T7 TT TA T/Not attempted LCM 100.

111.1,Ans. (a) 3 4 7

Ifx is a 3-digit number andy is a number obtained by permuting=7420.
the digits ofx in any manner, then (r-y) is always divisible by

8. af A 3AT, B 3ra 10% 37faa aT Bt Ara, C

20% 4 , a 4T: A, B 7T c 3a
(a) 6 (b) 9

(c) 12 (d) 4

(c) 3R T T TE/Not attemptedIf the income of A is 10% more than that of B and the income
of B is 20% less than that of C, then the incomes of A, B and C, Ans. (b) tEI TARM 9 fa4a ar
respeetively, are in the ratio- 12. T TUThT 0.3333 x 0.25 x 0.499 x 0.125 x 24 hT TThei

(a)22:20:25
(c)22 18:25
(e) 3TR Ti I ENot attempted

(b) 10:9:7

(d)11 10:8 The closest approximation of the following product

0.3333 x 0.25 x 0.499 x 0.125 x 24 is

Ans. (a) b C 3
(a)

80x110
80 100

100

88 80 100 (c) (d)
22 20 25.

(e)3R TEi 6/Not attempted

Ans. (d) .3 x .25 x .5 x .125 x 24F,549T: 45 Hs, 75s TT 90HSara aar TE

I E U HTT 7: 20:15 T T4Tit ë, T 3TT 325 12x 24
10 100 10 1,000

The traffice lights at three different signal point change after
every 45 seconds, 75 seconds and 90 seconds respectively. If all
change simultaneously at 7: 20: 15 hours, then they will next
change again simultaneously at ?

CTTHT
80

(a)7:27:45u/7: 27: 45 hours

(b) 7:27:30u2/7:27:30 hours

(c)7:27:50 u2/7:27:50 hours

(d) 7: 28: 00v2/7:28 :00 hours

(e)3 TT 6/Not attempted

Ans. (a) 45, 75, 90 31 LCM = 450 TVE

A sum of money at simple interest doubles in 7 years. It will

become four times in-

(a) 21 a/years (b) 38 ayears
(c) 42 /years (d) 18 ayears

(e)3R TEi /Not attempted

60) 450 (7

420
Ans. (a) 2 -1

30
7 t4T2 30 FUE

4-1

7:20:15

7:30

7:27:45.
=21 a

4TI HAT T LCM

The sum of two numbers is 45 and their difference is one-

ninth of the sum. Then their LCM is

(a) 150 (b) 200
A man and a boy together can do a certain amount of digging in
40 days. Their speeds in digging are in the ratio 8:5. How many(c) 250 (d) 100

(e) 3R T T TE/Not attempted days will the boy take to complete the work if engaged alone?
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9

(a) 68 fVday (b) 80 fday Ans. (a) 6:7:8:9: 10

(c)104feday (d) 52 f/day 6x+7x+8x+9x+10x 60
100

(e)3 TET /Not attempted

Ans. (c) E 5 RT
40x 60

5 100
HTQHT 8 6T 60 5 0.75=5 +8= 13 X

100 40 40
.075 x 6 .075 x 8 075x 9 075x9

67.5
0.75 x6T=40x 13 =520

45% 52.5% 60% 75%
520

= 104 fe 37: 4 s0%À 3feres

18. 20% fusTUT 8 ieT HAT YJE Aa T f
15. 7 126 Tfa farcarura 74T 7 135 fa fetra a ara aT

How many litres of pure acid are there in 8 litres of a
afa f4sur 7153 ufa farcrT4 , iet uear a

20% solution ?

(a) 1.6 (b) 2.4
Tea worth 7 126 per kg andR 135 per kg are mixed with a third
variety ofteaintheratio 1:1:2.Ifthe mixtureis worth 153

per kg, the price of the third variety per kg is
(a) 170.00

(c) 180.00

(e) 3R Ti TT 6/Not attempted

(c)1.4 (d) 1.5

(e)3R T6T 6Not attempted

8x 20(b)T 175.50
Ans. (a) TTa

=

100
(d) 169.50

= 1.6 TTE

19. g aAAT 21T qrt ë 84T aA fayH 3Hat 397
277 a Tit 21 qTt a 3Ht sr4aAns. (b) 1 T5AL = 135

1 foA = 126
A batsman makes a score of 84 runs in the 21 inning and thus

4HT =1:1:2 inereases his average by 2 runs. His average after 21 inning is
f4A= 153 (a) 44 (b) 54

(c) 24 (d) 34153x135+x126+xx
(e)3 TET 6T/Not attempted

21 r sT =84-20 x 2x= 175.50. Ans. (a)
= 84- 40

HSSC CET EXAM First Shift 44.F

Second Paper-05/11/2022
20. Trt TT RET aaT EI 34T4T aET

freate , faei 250¥At TaT qT ZaTTE TAT E
3

16. af pTT HHT HET È, Tt p AT (p +1)T LCM EIT-
Ifp is prime number then the LCM ofp and (p + 1) is

(a) (p+ 1)2 (b)pp+ 1)

of a pole is in the mud. When of it is pulled out, 250 cm

()p (d) Plp+)
2 of the pole is still in the mud. The full length of the pole is

(b) 1050 -i/1050 cm(a) 950 i/950 cm

(c) 1000 HH/1000 cm

(e)3TR T5T 6Not attempted

Ans. (b) Pp + 1) LCM =p(p+ 1). (d) 1100H/1100cm

(e)3TR T8i TI T/Not attempted

Ans. (b)

250
33tfeeaa tnt a 60%TEI fænfaatà feaaa udi À 50%

fr 3r ATT fA ? 50 x 21 1050

21. T 5% aTf6 HISTUT aIT aT À 4q9i ÀT 504 ETA student took five papers in an examination, where full marks
were same in each paper. Her marks in these papers were in
the ratio of 6: 7:8:9: 10. In all these papers together, the
candidate obtained 60% of the total marks. Then the number

ITtI Tt TiT 10%ariTn FMETTUT aT 2a

of papers in which she scored more than 50% marks is ?
A sum invested at 5% simple interest per annum grows to

(a) 4 (b) 5 504 in 4 years. The sameamount at 10% simple interest per
()2 (d) 3

annum in 2 years will grow to
(e)3T TEI 6T/Not attempted
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(a) 525 (b) 550
40% TY = 25x + 17x =42

(c) 420 (d) 450 A 25x, B= 17*

(c)3 TaT /Not attempted 4P x xx=A
42x

AP APx2
Ans. (a)

4P 42x 3P 3P

*x5x4
504-x 100

e34 34300x =420

420x10x5105 P =39,375.
100x2

24. 1+[1 +1+{1+1 (1+1+3)}177
1+11+1+{1+1+(1+1+3)}| is equal to-2 H7=420+ 105 = 7 525.

22. TT 17:45 3T7 EI zfA 3TET ET VE-faET,
(a) 11 (b) 1

( (d) 4Two numbers are in the ratio 17: 45. If one-third of the smaller
1

is less than of the greater by 15, then the smaller (c) 3R Tt TT /Not attempted

number is- 7
Ans. (a)

11

(a) 76 (b) 86 25. v TNTÍT UT 2a HTTTUT TT T 660, Fafch 3Hi H4T2

()25 d) 675

On a sum ofmoney, the simple interest for 2 years is 660,

while the compound interest for the same time and same rate
(e)3R 7i 16/Not attempted

Ans. (a) HT = 17:45 isT 696.30. The rate of interest per annum is-
17x 45x

(a) 12% (b) 11%

45xx17xx3 = 15
(c) 10% (d) 10.5%6

(e)3R TT AT 6/Not attempted

9 31-R
x2 Ans. (b) G% x100

36.3x100 = 11%.
330

HEA = 17x2

23. a ANi ATT B T aTR F49T: T 1,25,000 aeT

85,000 TTI3- aTH T 60% ATT, 3TH j aaT aT

ABAR 3,000 3ferc6 fun a z Y

Two partners A and B invested 1,25,000 and 85,000
A, B and C can complete a work in 6 days. A or B alone can do
the same work in 16 days. In how many days C alone can do

respectively in a business. They distribute 60% of the profit
equally and decide to distribute the remaining 40% in the
ratio of their capitals. If A received 7 3,000 more than B, the

the same work ?

(a) 24 (b)336

(c)12 (d) 16
total profit is-

(e) 3R T T TENot attempted(a) 38,840 (b) 36,575

(d) 39,375 Ans. (a) ABC A(c)42,250 B

6 16 16
(e) 3TR TT T 6/Not attempted +16

Ans. (d) aR-qT = 60%
96

qiei =40%
A:B =1,25,000 85,000 96 9 24C 16-12 425 17
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27. TTTHTETT T ATTA 210 t 7aT Tsta T
214i Ht I afa TTT a 42 ai HE, z

(a) 48 ie48 litres

(b) 50 TTe50 litres

(c) 36 ieW/36 litres
The volume of a cuboidal solid is 210 cm° and its surface area (d) 84 iev84 litres
is 214 cm-. If the area of the base is 42 cm, then the edges of

(e) 3TR Ti T TE/Not attempted
the cuboidal solid are

Ans. (a)
(a) 5, 6 TT 7 HHV5, 6 and 7 cm (b) 6,6 a27 8 HA/6, 6 and 8 cm

3x
(c)3, 4 T 5 HHV3, 4 and 5 em (d) 4, 5 a16YHV4, 5 and 6 em

(e)3 T 6/Not attempted 4x 8

Ans. (a) Option , 3x+6 7

28x =42 +24xFH = Ibh = 210
4x = 42

17 2(lb + bh + hl) = 214
X =12

I=5
b =6 4x 12 =48 iteI
h =7.

28. FEAT, TAHT Ts TART HET T HNT: 30% TR 37%
HSSC CET EXAM Second Shift

First Paper-05/11/2022Two numbers are less than a third number by 30% and 37%,
respectively. How much percent is the second number less

than the first ?

(a)4% (b) 3% 31. af 2 1.4142, T TTT

(c)7% (d)110%

2-is equaIf 2 = 1.4142, then is equal to-(e) TTR TT /Not attempted

Ans. (d) A B C

70 63 100 (a) 1.3142 (b) 0.4142

(c)0.3652 (d)0.732
541%= X100 = 10%.

70 (e) 377 i T T6/Not attempted

Ans. (b) V2 =1.4142

V2+1 V2+1 2-1
VVE-1}2-1,2l--1A person has to cover a distance of 6 km in 45 minutes. f he

covers one-half of the distance in two-third of the total time,
then to cover the remaining distance, his speed (in km/hr) 2-1 1.4142 - 1 =0.4142.

32. af a,b,cT 3tH M 72T ab +be + ca =0, a a,b,cTmust be
(a) 12 (b) 115

(c)6 (d) 8
If the average of a, b, c is M and ab + bc + ca = 0, then the

(e)3R T T6/Not attempted
3ATeft =3

average of as, b', c is-
Ans. (a) (a) 3M2 (b) 6M2

(c) 9M2 (d) M
HH =x45 = 30 f4-E

3 (e) 3H7 TET 6T/Not attempted

i =3 Ans. (a) a+b+c = 3M

4 = 15 TH1 ab + bc + ca = 0

(a +b+c) = 9M2

a +b+ c +2 (ab + be+ ca) = 9M
a2 +62 +c2 = 9M2

x60 12 ft./aue15I =

9M3ATH 3M
3

The ratio ofmilk and water in a mixture is 4:3. When 6 litres
of water is added to the mixture, the respective ratio of milk
and water becomes 8: 7. The quantity ofmilk in original
mixture is
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12
The ratio of milk to water in 80 litres of a mixture is 7:3. The
water (in litres) to be added to it to make the ratio of milk to Aap frat TATI af F TTT , 3tt qTa fy 1%
water 2:1?
(a) 5 (b) 6

(c) 8 (d) 4 A sum was invested at simple interest at a certain rate for 3

years. Had it been invested at 1% higher rate of simple interest
for the same time, it would have fetched 7 5100 more. The

(e)377 TET A/Not attempted

Ans. (d) 80
sum is-

(a) 1,25,000

() 1,70,000

(e)3TR 7i 16/Not attempted

(b 1,50,000

(d) 1,20,00080x380x
10 10

56 : 24+x=2:1
9 HTe5I x10056 2 Ans. (c)

24+x
28 = 24 +x 5,100x 100

=R 1,70,000.
1x3

34. 3rAAAT 4 i t faun, 4Tizr TqA T 4:3

fau aa?
The length of one side of a right-angled triangle is twice the
length of the other side and the length of hypotenuse is 10 em.

The dimensions of a rectangular floor of a room when
increased by 4 metres become in the ratio 4: 3and when
decreased by 4 metres become in the ratio 2: 1. What are the The area of the triangle is

dimensions ofthe floor of the room?

(a)16Htexx 12 HTe/16 mx 12 m

(b) 18 H2 x 22 Hitea/18 m x 22 m

a) 33a/ 33m (b) 40 TH/40 cm2

(c) 50 a FH/50 cm

(e)3R TET 6/Not attempted

(d) 20 H/20 cm
(c) 18 T7 x 24 HizV18mx24 m

(d) 12 H x8titZU12mx 8m

(e) 3R i I Not attempted
Ans. (d)

THRT TT = 2x
Ans. (d) H fa4T= 12 HTEx x 8 HTex +(2x) = 102

+4x =1002 8

+4 +4 r20
16 12 =4:3 x= 200
12

4 4 3ATRxh

4 2:1| 2

= 12m x 8m
20x220 - 203i ATi

2
4

38. fit Ti 7a HH A 7T B ai T 3:4 3TuTa

The principal that amounts to R 4,913 in 3 years at 6% per
In covering a certain distance, the speeds of A and B are in the
ratio 3: 4. A takes 30 minutes more than B to reach the

destination. The time taken by A to reach the destination is

annum compound interest compounded annually is

(a) 4076 (b)4085

(d) 3096

(e)3 TT T 6/Not attempted

(c) 4096

(a) TZ/hours (b) 2 u/hours
2

A-Pl10Ans. (c) (c) 2T/hours (d) 1 ue/hours

(e)3R TT 6/Not attempted

o13- P125 Ans. (b) TM=3:4

HH=4 :3P =7 4096.
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30 1 (C) 16 (d) 4
-3 (e) 3R Ti TT TENot attempted

Ans. (c) 2, 4, 6, 8, 10, 12 LCM = 120 H5UE

l, 4x=2 JuEI
2 30

30fe = +l = 16 R
39. at 3THT HTAT x 3T y{x>p)I LCM, 161 I (3y-x)

HIT

LCM of two prime numbers x and ylr> y) is 161. The value of
3y-x) is--
(a)-1 (b) 1 A container contains 40 litres of milk. From then container 4

litres of milk was taken out and replaced by 4 litres of water.
This process was repeated further two times. How much milk

(c)2 2

(e) 3TR ET TI 8T/Not attempted is left in the container ?
Ans. (d) 161 7 x 23

(a) 27.36 Ftelitres
() 29.16 z/litres

(b) 28 TiTE/litres
x 23

(d) 26.34 litresy=7, 3y-x =3 x 7-23 21 -23 =-2. (e) 3R Ti TT 6/Not attempted

40. a m=-4 TT n=-25, m*-3m2 +3m +3n +3n?+3 Ans. (c)

If m=-4and n=-2, then the value of m3-3m2+3m +3n +

3n2+ is 40x1
(a)-124 b)-126

40x10 10 10 29.16 TileTI
(C)-128 (d)-120 999
(e)3R ET I T6/Not attempted

Ans. (b) 4 44. A, B 30% Ht aTM EI ZT q HT H A EY, TE
n =-2

m3-3m3+3m +3n +3n2 +3 a 23fer TI R HA ?

4-3 x (4P+3 x-4 +3x-2 +3 x(-2) +(-2-64-48- 12-6+12-8 =- 126.
A is 30% more effcient than B. How much time will they,
working together, take to complete a job which A alone could
have donein 23 days?

(a) 13 fday
41. f = 0.2689E, 0.00037183.718

1If3.718 is= 0.2689, then the value o o.0003718 () 207 fday

(a) 2.689 (b) 26890 (c)15fday
(d) 11 fVday(c)0.2689 (d) 2689

(e) 3TR TET T 6/Not attempted (c)3 T I 6Not attempted

Ans. (d)
23x130 299

B== 0.2689 Ans. (a)3.718 100 10

1 10A+B22990003718

23 299
qT- 13 fI2990003718

.2689 x 10000
45. A, B 3iT CAUA TTT T AHYT: T 80,000, 7 40,000 TT 80,000

2689

42. 3: uzaya TA ai 3T TTa A4T: 2HAUS, 4

HU, 6 FUs, 8 U, 10 UE TAT 12 Fu 40,050 gT, a aTy B T forAT &

A, B and C invested 80,000, R 40,000 and 80,000 respectively
in a business. A left after six months. If total profit after eight
months is 40,050, then what is the share of B in the profit ?

(a) 8,900

ait?
Six bells eommence tolling together and toll at intervels of 2,

4, 6, 8, 10 and 12 seconds respectively. In 30 minutes, how

many times do these six bells tol together ?

b) 5,000
(c)7 9,000 (d) 8,000

(c)3 T T6Not attempted
(a))10 (b) 15
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Ans. (a) B C (c) 17,200

(e) 3 Ti T /Not attempted

(d) 16,800
80,000 x 6 40,000 x 8 80,000x 8

48 32 64
Ans. (b) T. V. = 16,000

3 2 4 quz = 4,000
40,0502

=7 8,900B 12,000x12x15
SI =9 =1,800

100x12

HSSC CET EXAM Second Shift =12,000+ 1,800=13,800

Second Paper-05/11/2022 = 13,800 + 4,000
= 17,800.

46. fat 3Tm T, z * faT T, fuTUT
49. ATT B tATR h ah 8tT TRT 7 Hhd , BTAT

C 3HT T 12f 7 T E, Tafs A, B 7AT CT2

16% TTT aI ?

fat à set unn ?
In what ratio must water be mixed with milk to gain 165%

A and B can do a work in 8 days, B and C can do the same work
in 12 days, A, B and C together can finish in 6 days. In howon selling the mixture at cost price ?
many days A and C together will do the same work?(a)1:6 (b)6:1

(d)4:3
(e)3 5T 6/Not attempted

(a) 4 fe/4 days (b) 6 fV6 days

(d) 12 f/12 days
c)2:3

(c) 8 f/S days

(e)3R T6 EUNot attempted
Ans. (a)

Ans. (c) AB BC ABC
f128T6

-I +2
2

100

A-=12
50 300

6. ABC AB

-3 C 24
24
ABC ABWhen 20% ofa number is added to another number, the second

number increases by 50%. The ratio of the first number to the
A B

second number is- 4
(a)2:5 (b)2:3

24(d)3:2
(e) 3TR Ti T TE/Not attempted

(c)5:2

A+B -8f
Tx20 150y

Ans. (c) 100

50. f 13
+73

(13)+7-x
00 *J

20 , Tt x *hT HIT IN-

(13)+73
If- = 20, then the value ofx is(13)+72-x

X:y =5:2.
48. v af7 a7 16,000 T TVTtaTi 34 7 4,000 (b) 220

(c)91 (d) 182

(e)3R TEi 5/Not attempted
A man buys a TV priced R 16,000. He pays 4,000 as down
payment and rest after 15 months on which he is charged
simple interest at the rate of 12% per annum. The total amount

13+73
= 20

13+7-xAns. (c)

he pays for the TV is-
2,197 +343 =20(169+ 49-x)

2,540 = 4,360- 20x(a) 18,200 (b) 17,800
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HSSC Previous Year Question With Solution|
II1III IIT I11IIIIIIIIIIU

425x100HSSC Laboratory Assistant Ans. (c) 15%a = 500
35

Morning Shift Date-01-01-2023
500x105-525

S% IY =-
10091. fentt HEN ITt-fAEry, 3HT HET 40%À 16I EIT

H ? 95. 7h TZTH TU RT E, ÎH 8, 9, 12 ga 15 gTT fTHTŠTT

T, ET aT 5TT aa ?(a) 45 (b) 60

(c) 120 (d) 180
(a) 725 (b) 1085

(c) 365 (d) 2525
Ans. (b) -10016100

Ans. (b) 8,9, 12, 15 LCM =360

TI HA = (360 K +5)
x+16

l, K 1,2,3

365
(360x 1+5) = =1 (M)

10x-6x Put K =2= 1615

4x = 16 x 15 Then, (360 x 2+5) = 4 (T9)

x = 60. Put K =3

HSSC Senior Scientific Assistant 1085
(360 x 3 + 5)= =0 (T)Then, 7EveningShift Date-01-01-2023

3R 1085 EPTI

HSSC Senior Scientific Assit.
(a) 10% T T (b) 2% a TIT Morning Shift Date-31-2-2022
(c) 4% TG T

96. afa n2=123456787654321, n 7 T ?Ans. (c) HTT H = 100

30% =130 (a) 12344321 (b) 1235789

(c) 11111111 (d) 11111118020% A
= 130x

100 Ans. (a) n=123,456,456,787,654,321

al, n =111,111,11ta% ATTH = 104 - 100 = 4% T T

93. T (1523 + 2325) 19 FNT faTfT faET T, T T (1 =1

(11) = 121

(111)=12321(a) 4 (b) 0
(11112 = 12344321

(c) 15 (d) 18

Ans. (b) (15)23 + (23)23

(19-4)5 + (19 +4)

19 H Common , 7E

4) +(4)23

,0 (a))30 (b) 24

94. T aaHTat farit a 7425 aam 3r 3à 15%
(c) 20 (d) 6

Ans. (a) T TTT =1 x3 =3
) aa arfy ?

E TAAT =2 x 5 = 10
(a) 510 (b) 445

3x 10 30.(c) 525 (d) s05

NIDHI PUBLISHING HOUSE

ER A
SHOK K

UMAR TE
LE

GRAM: H
SSCSULT

AN



23

(a) 310 (b) 295

(c) 305 (d) R 300

3 92, F 3ET 3 ETT
120

250x = 300
100(a) 80 (b) 78 Ans. (d)

76 (d) 60

Ans. (d) 10 x 80 = 800

2 3T46 fT T =8 x 81 =648
(a)2:3
(c)4:9

(b) 9:4
2i = 800- [648 +92]

800 740 (d)3:4
= 60. Ans. (b)

99. a 7HT ard srgi aA 90%TT-t aaT EI TT T(3: T(2)
=9:4

102. 3ci aITit uen FET hi Tai 3HTT HAT, 3T

(a) 2.5 feociTUIT-H (b) 2.4 15UH

(c) 2.0 fciEAT- (a) 54 (b) 82

Ans. (a) A 3Ri H T =90% a ri aH À (c)42

Ans. (a) Option H I-54

HTT i 51 4 = 20 f. HTT HE (Option ) = 54

4511 T = 5 +4 9I 4 TR HIT = (100%- 20%)x =0.8x15A.

0.8x 20 1 R = (5)2-(4? =25-16 =9

100
x= 20x 2.5 f80 103. farit TT 45% 40% 324. TE ET ?

(a) 1850 (b) 1600

HSSC Dark Room Atendant (c) 1800 (d) 2400

Evening Shift Date-31-12-2022
40

Ans. (a)
100. y SteT Àa aara Tst 7250 aar 3T 20%TTH 4rTI

100 100 324

324 x100x100
a y ? 45x40

1800.
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HSSC Math Previous Years Question With Solutions

n+ll
HSSC HAP Durga Shakti Date-25-12-2021

n =-11

n= 12.
592x592x 592+167x 167x167.
592 x592-592x167+167x167 h IT T? 5. a 3tT bat af¥aai 7. T. U. 1 311 T H. T. E?

(a) 425 (b) 334 (a) a-b (b) ab

(c) 1184 (d) 759

a +b = (a +b)(a*-ab +b)
(C) a+b (d)ab

Ans. (d)

(592 +167)M592x 592-592x167 + 167x 167) Ans. (b) HCF ( Z. T) =1
(592x592-592x167 +167x167) LCM ( . T.) =?

592 + 167 = 759. HCF x LCM = Product of No.
2. 60 ieT T fusu Z9 3iT qt 3Tura 2:11Tafa 1 x LCM =a xb

LCM ab.

6. T% y 12TN a T UA ZfA 20% ETfA aT
(a)30 (b) 40

(c) 20 (d) 60 (a)10 (b) 8

Ans. (d) (c) 15 (d) 5

= 3 60 Ans. (b) 12 RTT SP = 71
1 20

40 1 1 SP =20

(IH THET TETI 60 TiET)
aif= 20%

+60
40 80 20

1001:2
1x5CP of 1 TRT =(0.5)4-(0.4

(0.5) +(0.4)2 TT? 12x4 48

5120_1(a) 0.09 (b) 9 SPof RÍ 20%% TH =
48 100 8

(c)0.9 (d) 0.009

(0.5-(0.4|05+04)
(0.5)+(0.4)Ans. (a)

0.25-0.16 = 0.09

fy faAT TT HIHT H4 ?
663TT I f4y T, T zfFAi zreT ?

(a) 50 f4-2z (b) 12 fme
(a)12 (b) 8

(c) 1 ue (d)8 f-z 20 5E
(c)11 (d) 14

Ans. (a)
Ans. (a) HTT 7 T n 4fT

66 ="C2

n! 0x 10 5x 10

66 (n-2)!.2! T8T 60 ftiravaT

nn-1)(n2)!
66= (n-2)1.2

= 50 fHi/que

66 x 2 n-n 8. Te Titr 3riui aM fog 37TraaT 3ri hT 36%aa
n-n- 132 =0

n-12n+ 11n- 132 =0

nn- 12) + 11(n- 12) =0 (a) 550 (b) 640
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(c) 500 (d) 1008 Put a value in eq. (i), we got

Ans. (a) 113 +85= 36% 31 +b = 78

198 = 36 b= 78-31
=48

b = 4711

I= 5.5. a 31

100% = 550. HE 1 AN = 16.

9. 7- arffa gaa 8% Uftad t ar 5 at 7 580

EUT AT HT7 zit ?

(a) 100

(c) 166.40

12. Par o qurian ga ue fes PQ=64frtfaa

(b) 65.60 (a) 16 (b) 20

(d) R 120 (c)35 (d) 65

Ans. (a) r= 8%

TH 5 q or 60 HEH Ans. PQ = 64

f477 580 P+Q
65

Q

64Xx8x60
= 580-x 2 4100

16 20480x = 58,000 100x

580x = 58,000 16.

X=100. 13. at 20%hl TH EAT E, taa TT FT
T ANTA ?

HSSC Assistance Revenue Clerk Date-12-12-2021
(a) 15% (b) 12%

2(c) 16%
3

(d) 16%

(a) 33% (b) 133%

(c) 25% (d) 30% 100 120
Ans. (c)

Ans. (a) 10% 10 100 5020
x 100 = l670.120

20%
14. A, B 20% 7 a A EI afa Afentita 7 que

MP: SP = 10:9=20 : 18

CP:SP 5:6=15: 18

x100 33%
15

(b) 6 7uz(a) 4 ue
(c) 8 quz (d) 10 u

11. a HET3 TT, T YTA HET À AT-XTM TUT fEFT

TA&,a 3tA TUT ufua aT: 2,418 er 3,666 8
Ans. (b) A = 80

B 100
(a))16 (b) 21

15
(c)19 (d) 23 A =4x =30

B 5
Ans. (a) HII HEI

I =a B TT TT TT T= = 6 U2I
II =b

ala + b) = 2,418

bla + b) = 3,666
..)

.11) 15. af 4r= y5+2 &,ax- 16x)
eq. (i) +(i) i R,

(a) 1 -1
a+ab + ab + b2 = 6,084

a2+2ab +b2 = 6,084 (c)4 (d) 2/5
(a +b) =6,084

atb=78 ...(111)
Ans. (a) 4x= 5+2Put (a +b) value in eq. i) we got.

a(78) =2,418 5+2 .1)a =31
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-x VS-2
5+2 5-2

c) 224 (d) 56

4x Ans. (c) THTAR h =TTR T
= 16 x 14 = 224 q FHT.

(a +b) (a- b) = a2 -b] 19. a HFC FTT y ?

5-2 (a) 56 (b) 1/56..(i)
(c) 1/168 (d) 1/90

x- 2 = *16 or x-4Gi)16 Ans. (C) 3 3,7,8
Eq. (1) value in eq. (i) and (i) we got

2 -2)

5+2-V5+22--

7 1,7,8
81, 1,8

1,1,1
3x7 x 8 =168

168

20. T H T TTeaTt a7 a T 100, 100, 100,

(a) 2 Th4/ue (b) 3 fert/aue
(c) 4 Tna/que (d) 5 feotrave

(a) 200 (b) 120

(c) 150 (d) 240
Ans. (b)

Ans. (b) 100
100
100 300 1
300

B-C
B+C 4x 300

120.
10

2B = 4
21. E zt ai4a 210t f EI 3H 7 100uf febcit

2*3=6
13- 170 wft fct ai ar TET , fH 20% TT EAT

1x3 3
(a)25:27
(c)25:41

(b)27: 25

(d)41 25

20(a) 48 a (b) 26
Ans. (c) 210G+ 100T =

x (210G + 100T)
100(c) 44 a (d) 28 a = 42G +20T

210G+ 100T + 42G + 20T = 252G+ 120T
170 (G+T) = 252G + 120T

B
170G 252G120T- 170T

1114b2=8Ans.(a) L13 16 1-4
-82 G =- 50TAT 44

+4
48

aTH IY +4

56

t4 : 25.
60 22. 20,000 iT TT 2a a 5%TfAai ar À HTTUT

52 04
(a) 45 b) 65

A1dHT T= 48 a
B dHT H = 60 a

(c) 50 (d) 75

pr

HSSC Foundary Man (Moulder) Instructor
Ans. (c)TTRUI TS 6qIG 1 AAT (100)

20,000x 5x5(Theory) Date-25-12-2021 50.
100x100

23. feHt FHTTT SUit äa HETHT T aT 9 HR ITT

TUAT 15 I T7 TeT FTA ?

(a) 96 (b) 112 (a) 2 (b) 5
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(c) 1 (d) 3
() (d)

Ans. (d)

HTH RI TEN = a +d Ans. (b)
40% 19%

a -d+a +a +d =9

3a = 9
26

a =3

(a d) (a+ d) (a) = 15

7% 14%a-= a
1:2 3

32-d
RTR = =

d = 5-9
27. fer T Tfa 10ftt/quET EË afa TE T

H44 T3TET 26ft 3ir T 6 uTT 14 faHT/
TAT Hrit , a TNT z fa ?

+d =-4
d =2

Put a value
(a) 2 fht/aque (b) 2.5 fVTveI

46 HE =a-d=3-2=1
(c) 3 fait/que (d) 4 fi/qv

THRT H a =3

itert TE=a +d=3 +2 5.

24. Ae a4 8 fa TaIIB 3 cf4m z
2 fai T T&, Tafn A3iT cf4cmat F 3fai a

101810 18
26-14 512 5 3 T54re.Ans. (c)

28. f feT HTA ATA yu-

(a) 25/6 (b) 17/3 (343) (343)3 =?

(c)21/5 (d) 24/7 (a) 49 (b)46

Ans. (d) (c)42 (d) 40A >8
B+C2 )24-12

3

(e)37T7 T
A+C3 8 C =5

--
3

24B 1 =7
(343) = (343)° =[7y]sAns. (a)

(7) 49.

29. 4,000 ai ArT ZH VhTT faTTTa feT TAT fs af
ATT 3% 3ix q uT 5% a7 À faT feraT

HSSC Assistant Linemen (ALM) Dt.-14-11-2021

25. T ciuT uIE 3T 264 Tzr Fa 4y:
8 PU ar 20 deus

(a) 69.5 f/v (b) 70 fiT/qTe (a) 2,800, 1,200 (b) 3,000, F 1,000

(c) 79 fi./aue (d) 79.2 ft./qUZI (c)2,500, 1,500 (d) 2,200, 7 1,800

(e)3T T
Ans. (a)

Ans. (d)) 4,000=

264 18 396 4,000- X

3% 5%
79.2 TeHT/quaT

PRT
100 II GPRT

T00

3xxx1 (4,000-x)x5xl
= 144ra aAT ? 100 100

2(b) 3x+20,000-5x
144

100
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3x +20,000-5x = 14,400

() 4
-2x-5,600

x 2,800
Ans. (a) 8M = 12B

4,000-2,800 = 1,200.

M
HSSC HR. Police Male Constable (Cammando B

Wing) Date-14-11-2021 20M+6B =20 x 3 +6 x2=72 unit

8x3xl6 16
0.009x0.036x 0.016x0.08

0. 0.002x0.0008x0.0002
72

34. T 132 feovit auei a nfa d a7 d aft
(a) 36 (b) 37

() 33 (d) 41
(a) 5.5 ¥5Us (6) 7.5 F5US

(c) 6.5 HS d) 9.5 VE
009x036x016x08x1,000x10,000x10,000

Ans. (a) 1,000x1,000x1,000x100x002x0008x 0002 q4=
_(165+110) 18

132
Ans. (b)

5

9x36xl6x8 =9x36x4 =
3 x6 x 2= 36.

275 18
7.5.132 82 7.5.V2x8x2

31. fucraa a TH 55T zTu aAT YT a1 3Tua 7:4 35. 3 au 40 f4-e g 3aTT 3 aue 45.5 fHE T T TAM

fHeAT Tm ? (a) 1.5% (b) 4.5%

(a) 10 ir (b) 6 r (c) 3.5% (d) 2.5%

(c) 12 Tiiex (d) 22 cix Ans. (d) 3 aqu2 40 f4e = 220 ftE
3 7ue 45.5 f4e = 225.5 f4Te

Ans. (a) M W 55x100 = 2.5%
7 4 = 11 = 55 220x10

15 36. feo f Tti °RUMOUR'JT HHTi *t aaRAA

fT 4AT?20

(a) 520 (b) 99

35 30 R 10 TitR (c) 34 (d) 180

32. 8af T T45,000 HrA T 777,400

I f a am a a fasa-t ?

6x5x4x3x2!
Ans. (d) 21x 2x1

180.

()9 HSSC HR. Police Male Constable Set-1(a) 9%

Date-31-10-2021

(c) 7% (d) 8%
37. af 12,276+ 1.55 = 7,920at 122.76 15.5 4 aT?

(a) 79.02 (b) 7.92

Ans. (a) 100x (c) 79.2 (d) 7.092

45,000x8 12,276x100
Ans. (6) 7,920

155100x (77,400-45,000)
12,276Xi

= 79245,000x8
155

100x32,400
122.76
I5.5 or

276x1
7= 9%. 12,276x10

7,920
155x100

12,276
= 792 I HTHCTa I IE 7.92.

155x100

38. -ar-(a+1)] 3T Jax2-x-(a+1)]T TT T4T7ad6&?
6) 3 f (a) r+a+ 1) (b) (*+ 1)

6
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(c)fik T f (d) 17: 18

Ans. (a) EHi AR TEfi i TT :
(C)(x-a-1) (d) (- 1)

.)Ans. (b)x-ax - (a +1)

x*-l- ax -a
42

21:22.
qs 20% 10%(+1) *-1)-a(r+ 1)

= (*+1) (x- 1-a) 542
.1)ax-x- (a+ 1)

42. 1SCg+ 15C13 T TT

(a) 15C10

ax*- x-a- 1

(b) C15ax-a-x-1|

alr- 1)-r+ 1)

alr +1)x-1)-(r+ 1)

(r+ 1)[a(r+ 1)-1]

(*+1) (ax ta- 1)

, (x+ 1) t-1-a)
r+ 1) (axr+a- 1)

(c) C d) 30C16

Crn-r)!
= 15C + 1C13

Ans. (c)

..VETT Eq ¥
5! 15!.t Eq

31(15-3)! 131(15-13)r+1) i Common, a 3T

15! 15! 15! 15!

faT TI, 7 FeTi 3T4T ? 3I(121) 13(21) 3«21(121) 13x121(2)

(a) HHM T (6) 2 a SIU
15!11

2(121) 3 13 21x12! 39
15! 13+3(c) 1.4 IT (d) 1 STUT

Ans. HT 5 h5 EA-1, 2, 3, 4, 5

16x15!1+2+3+4+5
39x2!x12! (We know that 39 = 13 x 3) (15! x 16 16!)

16!
1+2+3+4+5+6+7 28 (3x2!)x(13x12) We know that 12! x 13 =13!) (2! x3 =3!)

7

16!T8c 5 HEAI 1 ATH 1 3 ua 7 HEAI3Hi 1 3THa zi 4

31x13!
16!16!

31(16-3)!31x13!16CSo,

l6C3F

41AT &T ?

2
((a)

d) 3
) 6(a) 10

(c)7 (d) 14
Ans. (a) 40% Ans. (c) a = 8119%

a9
i utHTY =4a = 4 x9=36FHT26/

H5q YATY=2r+ tr= 36

r(T +2) =3614% |I70

36
22427:14 or 1:2

HTTEATTY 4TNY HIAT=2: (2+1)=2:3.

36 31F

36 36I a i 3t aerui at reAT F4T: 20% 3it 10%
7aat , 7 3 T ?

r=7 H(a)21:22 (b) 8:9
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TH ? 20-10)+5x3+ 10
49.

(a) 150 b) 1

273+ 10+2 +1
(c) 10 (d) 76

Ans. (a) (a+ 1) (b+ 1) (c+1)=m, atb+c=13 aii z/PIS
f 4 , a (4, 4, 5) TR TiEA 'm° (b)14(a) 105

m=(4 + 1)(4+ 1)6+ 1)5 x5x6= 150. (d) 12(c) 15

HSSC HR. Police Male Constable Set-2 Morning
400-100)+5x3+10_ 300+5x3+10

27x+10+2+1
Shift), Date-31-10-2021 Ans. (d)

9+10+2+1

45. ufa a 6% meTTUTT T TfT fea aui
60x3+10_180+10=

9+5+1

190 1215
(a) 24 a (b) 20 a
(c) 12 a (d) 16 a

TT a 200HnS, 300 Hs,
25

Ans. (d) (R)4
A = 2P

SI =A-P= 2P- P=P (a) 1800 HHS (b) 3600 H

(c) 2400 tS (d) 4800 TE100xSI 100xPx4
T =

Px25Px
4

10 200-300 -360-450
= 16 Ans. (a) .

10 20-30-36- 45

3 2-3-36-45
3 2-1-18-15

2 2-1-6-5
1-1-2-5

(a) 500f (b) 225 fa
(c) 900 fep (d) 450 f

51-1-1 -550
Ans. (d) 450 |1-1-l -1|

404 10<

10x 10x3 x3 x2 x 2 x5 = 1,800H

51. Fai T a foy 7 15,000 t 10% fa ad zt aTT

(a) 40 fz (b) 45 f4-

(b) 165000

(d) 18150
(c) 19 far (a) 16537.5(d) 30 T4T

(c) 16525.5

10 -24
Ans. (d) 240 30 TH1E

30

5
15,000x

100 750

= 15,750

(a) 45 (b) 56
15,750x = 787.50

100(c)54 (d) 63

Ans. (c) 54 (Option U)I 15,750 + 787.50 7 16,537.50.
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56. u A TH 28HHT T 342 3ar 20t &, HHSSC HR. Police Male Constable Set-3 (Morning|
Shift), Date-31-10-2021

(a) 2229 (6) 2992

9+2x27+9
=?S2. 187.5x 5+4

(c) 2993 (d) 2292

28
Ans. (b) 14 HHT

(a) 6.8 (b) 2.5
a (h) =20 THT

(c) 4.5 (d) 5.7

9 27
9

18
927 75 4 22 +20)Ans. (c)

9 18x 10 5

7.5 4 2xx14x34 =2,992 u2.
9

-45
53. art ga aq 20% ai ur àuI afa fas

100 aq faaT TT, T 3H 5% TH A TATI 34

H I GRT T ?

(a) 20 b)119

(c) 18 (d) 17

(a) 400 (b) 500

(c) 100 (d) 200 3 324Ans. (C)

80
400x =320,

5400x 20100

2 108
Ans. (a) Option H ,

100 320,
254

3 27
39

320+100=420, 400 +20=420

4 3H1 400 T1

=3 x2 x2 x3 x3 x3
(a) 9 ve (b) 8 2 6 x6 x 9

(c) 6 u2 (d) 7.30 u2 (5+1)5 +9) (8+1) = 324

Ans. (b) 4x5 x8 = 160 (3R TKT)
b

EI T a, =320
a+b+c = 18.

20x 2 x x = 320

320

X20x2 4

1 HHEI ?

8 72 7T4 STI
84 (b)8

(c) 64 72

B an faait?
(a)fAifta T F7(b) 480 HTET

4
Ans. (b) Option 5i, 80x = 64

5

(c) 400 Hta (d)31 7
80x= 60

Ans. (d) H B i Ta x HizT

280+x (a) 3 (b) 14/5280

35 4 (c)12/5 (d) 13/5

280 +x =700 Ans. (b) Put (n) = 4th 3
x = 700-280 420 Htex

3(4)+2 12+214
B qA 420 HTRI 5 5 5
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63. TAA 7 6.75 fa frT, aM 7 80 fTRAT. iTHit 8 ua fmHSSC HR. Police Male Constable Set-4 (Morning

Shift), Date-31-10-2021
7 a aeh 3H 20% TH T ?

(a) 7.5 b) 78.8

(c)8.2 9

Ans. (d) (6.75 x 80) +(8 x 120)

(a) 12 (b) 4 (540)+ (960) = 1,500

(c)6 (d) 8 20% TY R

2x+3y = 18

3x +2y= 17

Eq()5 3H 1 Eq (i) 1 2 F TUI

3(2x +3y= 18)

Ans. (b) ..)
120

1,500x 1,800
TO0

.1)

80 TIL. + 120 f5 200 1A..)
2(3x+2y=17)

1,500 20%1 1 3fa 5À fAy 171,8006x+9y = 54

6x+4y 34

(0.0347)+ (0.9653°
(0.0347)-0.0347 x 0.9653 +(0.9653

20 64.
y =4

Puty in Eq (i) we got
(a) 0 (b) 30

2x+3(4) = 18

(c) 10 (d) 1

2x+12 = 18

Ans. (d). a3 +b =(a + b) (a? - ab + b)
2r =6

(0.0347+0.9653)| (0.0347) -0.0347x0.9653 +(0.9653)*, T TET = 4
(0.0347)-0.0347 x 0.9653 + (0.9653)

= 3.
(0.0347 +0.9653) = 1.

65. u 3ATqut 18ft./sue zTÀ HATt 3T
, Af T

(a)1:4
(c)1:2

(b)8 1

(a) 6 18 f4e (b) 6 ue 12 f4-e
(d) 1:8

(c) 6 qu2 (d) 6 24 f4eAns. (a) 4H1, h =1
90HI, r=1 Ans. (a) 185, ET : M TM 90

Trh:th 7677 Az 12.85 13 f4

13x 7 = 78 T42xx1 :TXIx ]x1
6 18 f4- 77 F471

66. 120 Ti a fy 200 fa-i za a TI 5 fa-i aa,

l, 1:4.

62. HTE fA T 25% HTA TA Ti TiatI
(a) 150 f (b) 260 f7

faa T?
(a)fAeiita 7 T FH (b)F 2050

(c) 245 f d) 146 R

120x 200 =24,000

5 fi ar =5 x 120 600
(c)2040 Ans. (b)

Ans. (d) 25%, HA 4 75%

75%=1,545 24,000-600 = 23,400

75 30TFT 7t HI TY 90TT T/9T 23.400 Ti,
1001,545

100% =R 2,060
23,400

= 260 f90
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HSSC HR. Police Male Constable Set-1 (Evening

Shift), Date-31-10-2021
fy 10,980 TAT 7T , DVDTTT TA T
F AT ?

7eT B5 farTe I 7TT 77ET A, B 3TT CYA JUE (b) 8000(a) 8800

(c)T 9500 (d) 7 9000

122x
(a) 10 (b) 4 Ans. (d) 10010,980
(c) 6 (d) 8 10,980x100

= 9,000.
122

Ans. (c) 1 THTZ H hR A 3IRI AfGfe

Te grit, fazem 3ATATT faT 7 tier sir
24ter?I f4-2 7r B ERT fafz =

14x3 7 (a) 120 HTz (b) 180 ia1 fHT 5 A, B, CERT Here =
60 10

(c) 220 Hiex (d) 550

Ans. (c) P (24)2+ (7)2 = 576+49

I 25

10 15 30 6

24m

68. 50 HRET3 3a 38 i afa a FeTt 37uta 45 air

(a) 36 (b) 35
22

(c) 32.5 (d) 37.5 7x25=22 x 25 Ta?
7

50 x38= 1,900

45 siR 55 FZÀ T (45 +55) = 100

1,900 100 1,800

Ans. (d)

22x25x10
220 HIex.

25
1,800

YTY FE3T 51 3ATH =
= 37.5

38
HSSC HR. Police Male Constable Set-2 (Evening

itr faft 25fe a aTat , à 3ru 1s fue Shift), Date-31-10-2021

3tfare?
(a) 7: 40 AM

(c)7: 20 AM

Ans. (c) TM R AHTM &-6:40 AM

(b) 7: 45 AM

(d) 8: 15 AM (a) 120 (b) 90

(c) 100 (d) 8

Ans. () 6gi a 4efi i à 7 atsfaf va-2s f4re -7: 05 AM

15f4me -7:05+15 fHe
= 7: 20 AM

70. TET THAT 1,26,800I TE a TE 15%T4 T

4 TE x3 Tgt +5 x 2TEi +6 TE x 1 TE
C * *C +°C, x *C2 +°C, * "C

6-5-4! 43! 6.5!432! 6
2-4 13! 11:5 2121 6-6! 3:1!

43!

TTHRAT frcit grit? 60 + 36 + 4 = 100.

74. 13--?(a) 174984 (b) 135996

(c)145820 (d) 116656

1,26,800x1580
100 100

(a) 215 18Ans. (d) = 1,16,656 b)
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321. ferT 3 HÍT t fatan aa TT 20% 3r 327. HET 30%37 50% zi a 3T 200EI HET

T f ?

77 6,600&, 3H aa farat *? (a) 800 (b) 900
(a) 4400 (b) 5500 (c) 1000 (d) 1200

(c)6500 (d) 7700 Ans. (c) 30% = 50%

20% = 200
Ans. (a) 20% = x6,600 = 1,320

1%= 10

6,600-1,320 =5,280 100% = 1,000.

SP- x100T %= 328. 32 3ir 50 3iTHa FI7 tfay ?
CP

5,280
100

(a)39 42

20% ) 37 (d) 41

20x 824132+50= 5,280 -x
100 Ans. (d)

2 2
X 26,400 - 5x

6r = 26,400
x =4,400.

322. ET T fea T 1? (a) 16 (b) 20
(a) 10% (b) 20% (c)22 (d) 24
(c)25% (d) 30% Ans. (d) 2 3

Ans. (a) 11:10 HIHT HO-24 :36

L100 = 10%.
10

+8 +8

32 44
HSSC LDC (Field Cadre) 2-3-2020 8:11.

330. T 6 7HT HET 1 47 FA ailg ?(30+18x 4-2)
323. 3uTt Z6 ot FTM 25I-(12-20+4+3) (a) 5.1 (b) 6.8

(a) 8 (b) 0 (c) 7.2 (d) 8.4

(c) 12 (d) 14 Ans. (b) 2,3,5, 7, 11, 13

(30+72-2)
(12-5+3)

10010 2+3+5+/+llt13_*= 6.83.
Ans. (b) 6 610

TT 725, 341 fam FTA ?

(a) 25 (b) T 32

(C)35 (d)R 39 (a) 9000 (b) 10500

(c) 13500 (d) 15000
25x =7 35.l00 35.

325. 10T-VTEH T faA 13ž-TEI TTA T aTTAT

Ans. (c)
15x

3x+5x+7x =Ans. (c)
3

Sx = 22,500

(a) 18% (b) 20% r=4,500

TE i T4= 3x =3 x 4,500 13,500

T T = 5x=5 x 4,500 22,500

ir 4=7x=7x4,500 =31,500.

332. afa PÀ Q a aT 40f4Tufa aue f

(c) 25% (d) 30%

Ans. (d) 10 13
3
x100 30%.
10

326. 3FA7 80 2 TçT 90z7a TI F 3TET

(a) 10% (b) 12.5%%
(a) 36 f5uit ufa qu2 (b) 48 f u au2

(c) 15% (d) 22.5%
(c) 50 f6ut u sve (d) 56 fe5 sfa qu2

Ans. (b) 80 :90
2x40x60 2x40x6010100 10012.5. = 48 f7HaueTAns. (b) 40+60 100

80 8
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339. 32 31aT * T6 7T T 3iTHT 791 48.5 fèAT. EI ZT fTAE%

HSSC LDC (Field Cadre) Dt. 2-3-2020

333. HTT U fyTaren 77 ?
(a) 75.5 feM (b) 89.5 fAT.9,975+95+2(20-1,134-1,119)
(c) 62.5 fb. (d) 81.5 fI.

(a) 85 (b) 75
Ans. (d) 32 x 48.5 =1,552

(c)105 (d) 95 (48.5 + 1 f1.) x 33 = 49.5 x 33 = 1,633.5
=9,975{95 +2(20-15)}

9,975 {95+2(5)}

9,975

Ans. (d) fT% a=1,633.5 1,552 = 81.5 f
9,975 195 + 10;

340. 531i fHy TfUrA 3rai ATHA 65 uTT TT TI ar,
3E uTT TAT f5 317 eTUT , 3ta5 37 73= 95.

105

334.
,

150 tieT air 250 HteT Aat, 40 fuiT Hfa aue 3ir 50
(a) 57.8 (b) 62.2

(c) 63.8 (d) 60.2

Ans. (a) 65 x 5 =325
(a) 16 TuS (b) 24 t5VS

325-73=252
(c) 20 HhUE (d) 25 T5U 289518.

252 +37 =150+25018
40+505

335. TTA 7 12 ur Ta FT ET T ET, TE

400 18
16 FhUEIAns. (a)

90 5 341. THTE ZT 8% ATH TT TaT TATI 3T FH T 36 3NTET

34TUra 4: 5E IT ?

(a) 13 b) 19 (a) 1500 (b) 600

(c)15 (d) 10 (c)1200 (d) 900

Ans. (a) 12 Ans. (d) 8% = 12%

4% = 35+13 +13
1% =9

100% =9x 100=R 900.
20 5

5.
336. 7 5,250 ii TT T faTfYa H fen UE AT 5 TUT,

(a) 72474 (b) 73831

(c) 74147 (d) 75684(a) 4500 (b) 3500

70,700x 31
7x100

(c) 4000 (d) 3000 Ans. (b) =3,131
Ans. (d) 5x+ 7x +9x = 5,250

70,700+3,131 = 73,831
21x = 5,250

x = 250 HSSC LDC (Head Office Cadre)/Dt.-02-03-2020
T8t HEA = 5 x 250 1,250

-500350343. TT 80 70
THT HE =7 x 250 = 1,7500

= 1,250 + 1,750 = 3,000
(a) 30.9 (b)-31.25

iTT HEA =9 x 250 =2,250.
(c) 20.00 (d)-20.55

337. 675 h 28%.. ? -500 350 =31.25.(a) 200 (b) 156 Ans. (b)
80 70 4

(c) 189 (d) 315 344. TT 40% TTH HTT T 25,000 t NTA hT Y6 MEC6

28
= 189.

100Ans. (c) 675x-
(a) 32000 (b) 33000

338. UTAT À 15%7 i af 1,500 3T7 TitaT (c) 34000 (d) 35000

140
(a) 1250 (b) 1375 Ans. (d) 25,000x = 35,000.

100

(c) 1275 (d) 1150 345. 20,0004 a 3UATH TT 3iT FH 16,000 aa
351,500x

100Ans. (c) 1,275.
(a) 20% (b) 22%
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(c) 24% (d) 26% (c) 602.54% (d) 504%6

Ans. (a) 20,000 = 16,000 HTT 4 4=7 100

k 7 I =100 18% =7 18

100100

Ans. (a)

4,000100 20% aiMI
20,000 10,000

555.56%.346. I5:75 5 aRTaN 18 18

(a) 20% (b) 25% 351. 34A 35 fnais a TT 5faiat fah
(c) 30% (d) 35%

20 (a) 10% (b) 12%
Ans. (a)

100 (c) 15.5% (d) 12.5%

Ans. (d) SP 35
CP SP + Loss

347. T q 250 araTei i 100 arcce i TI TT 35+5 =40

%EAx100 12.5%
40 2

(a)120 (b) 130

?(c) 125 (d) 75

Ans. (a) fRg T aTE=250 (a) 5.25% (b) 2.25%

(c) 4.25% (d) 2.50%TT R T Ti aaai= 100
fRg Y T6TTE=150

T 4 20% =20 aaë
%x % 15x15 225Ans. (b) = 2.25% BTAI

100100 100

353. A 3iT B T 7:3 T 600fafaa fy ?

(a)A =T 420 sr B =R 180 (b)A=7 420 3tr B =7 150

(c) A =
480 siR B =7 120

150x507
fr50% I r6dd=

100 (d)A=7 320 3T B =7 280

Ans. (a) 7x+3x=600
75x2015fg 20%4 arsaë- 10x = 600

100
600

= 60
10

H eE =100

H (20%)+# (35%) = 55

T 5TE= 100-55 =45
7x = 7 x 60 = 420
3x =3 x 60 = 180.

Rq (50%)ae s are sTA T 354. 3, 153r 27M 3qATrt aT?
= 75 +45 120 (a) 27/5 (b) 135

348. frg 65a aT H TY À HE faafta fT, T5 (c) 5/3 (d) 215

x9
farafta fT AI, a 36.5 4f7 Ia TT, TA Xaai

Ans. (b) 3 15 27 ? =135.

(a) 220 (b) 230 x 9
(c) 240 (d) 250

355. fhch T TET 10 3taTi T T TE h 2.5 2TI 151 TT
65

65 x25 Xx10Ans. (d)
(a) 8.4 (b)7.9

X 250
(c)4.5 (d) 8.9

151 -(10 x 2.5) = 151 - 25 = 126

126
HSSC LDC (Head Office Cadre) Date-2-3-2020 Ans. (a)

(Evening Shift) 8.415

349. TE 5 ATGfA% HET ai TT T ? 356. 3f4a 75 fast/aveT faraÀ Tt aa a 3ir
(a) 56 (b) 55

(c)60
Ans. (b) 2+22+32 +42 + 52=1 +4 +9 + 16+ 25 = 55.

350. ak A SFt fasit a 18% EI ar
fa fnca utaT&?

(d) 4

(a) 64 fhri/qUeI (b) 56 fepqi/qve

(c) 60 faHi/qve (d) 54 feH/qua

2x 75x 50
Ans. (c) = 60 1h4jt/JuaT

(a) 555.56% (b) 250% 125
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HSSC LDC Head Office Cadre/2-3-2020 365. TT 3TG 60 30 317 TT T fy FTEHA

357. TA 9-
(a) 20 (6) 2/3

(a) 3/64 (b) 1/8
(c) 50 (d) 1/4

()1/6 (d) 2/8 Ans. (b) HEH = 30 +50 = 80

3 60 +60= 120Ans. (a)
8 8 64

358. TR 25,000A TT 7 15,000 aET ATE, ETM
280

3TTHd= 120 2:3.120
366. 5feit/avET T À 65fTHT a Ti T7 HTSfET

(a) 50% (b) 40%

(c) 20% (d) 68% (a) 11 (b) 25
Ans. (b) 25,000 15,000

(c))13 (d) 5
L

10,000100
= 40%.

25,000

Ans. (C)

65
359. ET à 7500 ua tat, Tafea arafaa qa 7 700

TI 34 R 200 yTë ai, fecai A T400
5

13 uET|

LDC/Dt-27-2-20 Morning
(a) S00 b) D0 5.0x5.0x5.0

367. HHTTTct 0.5x0.5x0.5(c) 200 (d) 400

Ans. (d) 700-500 = 200 (a) 1100 (b) 1000

400-200 = 200 (c) 36.00 (d) 20.20

M¥ = 200 +200 = 7 400. 5x5x5x1,000
Ans. (b) = 1,000.

360. 75 anT 4%=? 5x5x5

(a) 5 (6) 3 368. Tas afa À7350 q T Tiat air 3 12% aY

(c)25 (d) 4
(a) 383 (b)R392

Ans. (b) 75x 3.I00 (c)R381 (d) 400
361. favia a za7 50IT 3iT 20 Act i afa 350x112

Ans. (b) 392
100

369. 500 32% 25% rT T ?
(a) 25 (b) 20

(c) 50 (d) 4 (a) 18 (b) 18

20100 (d) 35(c) 25
Ans. (a) 25%.

80 500x232
8 100 100

25
= 15.Ans. (b)362. 50 100 aNTar T EI HT ?

(b)2:3
(d)4:5

370. g , fyrera 3N 3i I FTua 4: 171 afa 3TAT

T 3,400, fT TeT Ta ?
(a)5:2
c)1:2

Ans. (c) 1:2 (a) 500 (b)8800

(c)640 (d) 340

Ans. (b) 17x=3,400
r 200(b)2:3

(d)5:6
10:30=1:3.

364. 23, 32, 65 TT 56 ht 3ATHA PT E ?

(a)4 2

TRT5T H = 4x = 4 x 200 = 800(c)1:3
Ans. (c) 31A TeT= 17*=17 x200 3,400.

HSSC LDC Clerk/Dt.-27-2-2020
(a)40 (b) 25

371. T HE 7H teHTT tRT AT I HAI ATTA 3
(c))44 (d) 52

23+32+65+56 T76
= 44.

4
Ans. () (a) 14 (b) 26

4

NIDHI PUBLISHING HOUSE

ER A
SHOK K

UMAR TE
LE

GRAM: H
SSCSULT

AN


